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i1) To buck u
() 4 2405 Your Roll!No. ..J s 00
(ii1) At one’s wit’s end

B.Com./II F-1
(iv) To roll the dice

(v) In passing Paper XI - ENGLISH (B-106)

: ; Time : 3 Hour: Maxi Marks : 100
(b) Arrange the parts of the sentences in the right R i b s

GIGET. b0 ke ariset Scntsncs) () (Write your Roll No. on the top immediately
(i) students/these days/hard/to work/have/so on receipt of this question paper.)
(ii) not/hungry/eat/if/don’t/you are Attempt All questions both from

Section A and Section B.
(iii) Caspian Sea/flows/river Volga/into

(iv) Where/the bus/can we/park SECTION A
(v) Fat/tired/people/get/soon 1. Explain with reference to the context any four of the
passages given below : (4x5=20)

8.  Write a letter of thanks to your aunty who presented

; L (a) The industrial revolution saw a great increase in
you a wrist watch on your 21 birthday.

the population of Europe. These people wanted
OR goods, tools, clothes, houses and all the things that

' make civilized life possible. The goods they wanted
Write an application to the Director of a comparny for 24
' A i had to be fairly cheap, cheap enough to be
the post of Public Relations Officer. Attach your

estins: (10) purchased out of the wages earned in factory or

workshop.
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(i) Treatment of Spoilage

(iii) Treatment of Overtime

(3,4,4)
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Describe the objectives and advantages of cost accounting. (11)
OR

What do you understand by under absorption of overheads? What are the causes
of under absorption of overheads? How are they treated in cost Accounts?
' (3.4.4)
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(a) Explain the meaning and utility of Margin-of safety. (4)

(b) The Fortunate company Ltd sells its product X at Rs. 400 p.u. Its variable
cost is Rs. 240 p.u. whereas the fixed cost for the year is Rs. 1,92.000.

You are required to calculate for the company the following:
(1) P/V Ratio
(i) Sales in Rupees at breakeven point

(i) Sales units required to earn a target profit of Rs. 2,40,000



